
 

 

 

 

density = 
mass

volume 𝜌𝜌 =  
𝑚𝑚
𝑉𝑉

 

change in thermal energy = mass × specific heat capacity × temperature change 𝛥𝛥𝛥𝛥 = 𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚 

thermal energy for a change in state =   mass × specific latent heat 𝐸𝐸 = 𝑚𝑚𝑚𝑚 

 for a gas:  pressure × volume = constant 𝑝𝑝𝑝𝑝 = 𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐 

 
 

 

kinetic energy = 
1
2  × mass × speed2 EK = 

1
2

mv2 

GPE = mass × gravitational field strength × height 𝐸𝐸𝑃𝑃 = 𝑚𝑚𝑚𝑚ℎ 

power = 
work done
time taken   =  

energy transferred
time taken  𝑃𝑃 =

𝑊𝑊
𝑡𝑡

=
𝐸𝐸
𝑡𝑡

 

efficiency = 
useful energy output

total energy input  

efficiency = 
useful power output

total power input  
 

elastic potential energy = 0.5 × spring constant x (extension)2 𝐸𝐸𝑒𝑒 =
1
2
𝑘𝑘𝑒𝑒2 

change in thermal energy = mass × specific heat capacity × temperature change 𝛥𝛥𝛥𝛥 = 𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚 
  
 

charge flow = current × time 𝑄𝑄 = 𝐼𝐼 𝑡𝑡 

potential difference = current × resistance 𝑉𝑉 = 𝐼𝐼 𝑅𝑅 

total resistance = resistance of component 1 + resistance of component 2 𝑅𝑅𝑇𝑇  = 𝑅𝑅1 + 𝑅𝑅2 

power = current × potential difference 𝑃𝑃 = 𝐼𝐼 𝑉𝑉 

power = (current)2 × resistance 𝑃𝑃 =  𝐼𝐼2𝑅𝑅 

energy transferred = power × time 𝐸𝐸 = 𝑃𝑃𝑃𝑃 

energy transferred = charge flow ×    potential difference 𝐸𝐸 = 𝑄𝑄𝑄𝑄 
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